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def fibo_naif(n):
if n <= 1:
return n
else:
return fibo_naif(n-2) + fibo_naif(n-1)

def fibo_compteur(n):
compteur = 0

def fibo(n):
nonlocal compteur
compteur += 1
if n <= 1:
return n
else:
return fibo(n-2) + fibo(n-1)
fibo(n)
return compteur

def fibo_compteur2(n, c=0):
if n <= 1:
return n, 1
else:
return fibo_naif(n-2, c+1) + fibo_naif(n-1, c+1), c

def fibo_iter(n):



if n ==
return 0
u, v =20, 1
for 1 in range(1, n):
u, v=vV, Uu+yV
return v

def fibo_memo(n):
U= {0: 0, 1: 1}

def fibo(n):
if n not in U:
Uln] = fibo(n-2) + fibo(n-1)
return U[n]
return fibo(n)

def fibo_memo2(n):
U= {0: 0, 1: 1}

def fibo(n):
if n not in U:

p=n//2
ifn%2==0:

Uln] = 2*fibo(p-1)*fibo(p) + fibo(p)**2
else:

U[n] = fibo(p)**2 + fibo(p+1)**2
return U[n]
return fibo(n)



